METEOROLOGY TABLE
@ 1-4 GOOD WEATHER No Effects
1Dé6 Reduce the movement allowance of units

1 ik with 4 or SMP to 3MP.Ai points in that tum
cemeaoweanER Yy W L o e
nin Spanish.

Naval points are reduced to zero.

SEQUENCE OF PLAY

1. ADMINISTRATIVE PHASE (both players)

Deployment.

Meteorology and events segment.

Control segment of the Strait of Gibraltar (until achieved).
Supply determination segment.

Reinforcement segment replacements fortifications.

2. OPERATIONS PHASE

Allied subphase.

Amphibious invasion segment on first turn only.
Land movement segment.

‘Combat segment.

Spanish sub-phase.

Land movement segment.
Combat segment.

3.END OF THE TURN
Determine the victory conditions if it is the last turn.

EPLACEMENTS

The replacements will arrive each turn, starting from the second turn, in the following way, and they are
it (by writing piece of paper, for

insuch away that

example) until they have both been put into play.

Spain
1 efficiency step 1and 1 efficiency step 2.
The HQs are recovered if they in th their section.
f the Gibraltar and four ac y step 2 and when
italsol ities, it p 1 that was left over from replacements.
Mehalas i
Allies

they can
A-recover or bring from the eliminated 1 infantry step of 2 effclency for each polnt.
B- recover another of the eliminated 1 step of armored units of 2 points.

Efficiency 3 units cannot recover steps.
The HQs are recovered if they are eliminated in the manner explained in their section.

In the specific case of the British they can i
LSto

Gibraltar is in
Port-Lyautey. Before any of receive

replacements.
L If not, they receive them.

r reduced units, but also to bring eliminated units back into
battle. Units rebuilt after eturn IQor adjacent toit, provided they
arenot s zZoC by the afriendly unit.

In case the HQ has been eliminated and is not present this turn:

‘The Spanish player will place the unit in Tetouan, Tangler Ceuta, Villa Szn]ur;o or Melila, depending on the CE
towhich they belong, IX in the first by the player.

The allied player can in Port-Lyautey, Meknes, Fes for the Westem TF nr in Taourirt or Taza for the Cenlral TF
and in any of them (in case of failure of L
Taourirt) or on a beachhead (in the event of il ling) in the

Replacement points cannot be saved for other turns.
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*** 1/2MP for HQs and units with 4 or 5 MP. 1MP for the rest.
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TERRAIN KEY AND EFFECTS ON MOVEMENT / COMBAT TABLE OF CONTROL OF THE STRAIT OF GIBRALTAR

Turn1:1 If the Allied player has taken Once the Mediterranean is
Tangier or Ceuta he has MD- “open” theres no need to
1 for each turn roll again and itis
Turn2:2 considered “open’ for the
If he dedicates just 1 aerial rest of the game.
point (only 1) that he cannot
Turn3-4:3 later use in the turn, he gets Control of the Strait has
MD-1 :
“The Allied supply.
1XD6 Turn5-6:4 With Bad weather MD+1 “The British replacements
while they are dependent
on the beach head.
Turn7-8:5 “The Spanish replacements.
-OnNaval support.
Turn9-10:6

COMBAT SEQUENCE

1- The attacks rack (ATA/ DEF) anda
between them, dividing: the former by the latter.

to
rule, it y e e e

example, aratio of 17/5is equal t03/1.

2-The ratio of the ATA / DEF base column is modified if attacking from 4, 5 or 6 hexes as indicated in point 16.3,
by enveloping attack.

3 of step: givenby each i and
of the ATA / DEF ratio is modified f pertinent.

4- re applied, the ATA / DEF column or the die (MD)
according to the type of terrain of the target hex of the attack.

5. The appropriate MDs are applied by the aviation, naval and / or CG / HQ supports.

6 The dieiis rolled (1D6).

ts lied, with tt i il he ) d the

7-The
exploitation.

COMBAT RESULTS TABLE

<0 3/- 3/- 2/= /s 2/1) 2/2 1172,
q 3/- 3/- 1/ 2/1 2/2 /2 1/1R
2 3/- 2/~ 2/ 2/2 2/2 1/1R -/1R
3 2/- 1/- 2/2 2/2 1/2 -/1R  1/2R
4 1/- 2/1 2/2 1/2 1/1R 1/2R -/2R

1XD6 i 2/1 2/2 1/2 1/1R -/1R -/2R 1/3R
6 2/2 2/2 1/1R -/1R 1/2R 1/3R -/3R
7 2/2 1/1R =/AR 1/2R -/2R -/3R -/4R
8 1/1R -/1R 1/2R -/2R 1/3R -/3R -/4R

Explanation of results
- =noeffect 2/=means loss of 2 steps for attacking units.
R=Rereat 1 hex (T ifina hexi 3, I ps for

medium in or city try alast
successful lose 1 step and remain in the hex.)

loss of 1 step for

eans loss of 2 steps for defending units.
\eans loss of 3 steps for defending units.
/4=means loss of 4 steps for defending units.

Procedure for assigning losses

1/ =means loss of 1 step for attacking units.

The first step of for abilities,
If been used, the to the unit whose
y has been used by the player
The igned by th player y
him the most.
The third wil beasslgned by the layerhimselt, being able to ch unit he wants.
The fourt y
If onessi isfy all the losses by it he opponent only has to
satisfy th less than hi the result.
If all the losses has

A .
Good Weather Control of Strait

atisfy the result.
Ex:mple OnaZIZ resultwherethe has 3stepsand der 1, will
ep, but the will ot ose two, but only one. I the same case and fthe
resultwas 1/2 then would lose hi butt would not lose any.
Restrictions

o [fl F
i

Bad Weather Allied Naval Support

Z
Beachhead

1- efficiency difference. 1- The maximumof MD* 2ppllcable by the set of
2:-ground always in favor of and 3for
3-HQ Naval Air Supports the defender
4 Enveloping Attack. 2- With ratios less than 1: 2 as the final ATA / DEF
ratio, itis not possible to launch an attack.
Note MD * = die roll modifer.
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